VIVEKANANDA COLLEGE, TIRUVEDAKAM WEST - 625234

DEPARTMENT OF COMPUTER SCIENCE

Course Code: 10SE31 Programme: ]S?)c?ecn,c gomputer CIA: I
Date: 30.08.2022 Part: v Semester: III
Duration: 1 Hour Academic Year: 2022-23 Max. Marks: 25
Study Component: Skill Enhancement Course

Course Title: OPERATING SYSTEM

SECTION-A
Answer ALL the Questions:
1 What is an operating system?
a) interface between the hardware and application programs
b) collection of programs that manages hardware resources
c) system service provider to the application programs
d) all of the mentioned
2 Which of the following is not an operating system?
a)Windows b) Linux c)Oracle d)DOS
3 Which of the following is the extension of Notepad?
a) .txt b).xls c).ppt d).bmp
4 when you delete a file in your computer, where does it go?
a)Recycle bin  b)Hard disk  c)Taskbar d)None of these
5 Which of the following is a single-user operating system?
a) Windows  b)MAC c) Ms-Dos  d) None of these
SECTION-B
Answer any TWO Questions:
6 Define operating system
7 List out operating system functions
8 Define input device
9 Define run state
SECTION-C
Answer any ONE Question:
10
11 Explain device management and its function
SECTION-D
Answer any ONE Question:
12 Explain operating system process view point with neat diagram
13 Explain about operating system resource manager
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SECTION - A (Remembering)

Answer ALL the Questions:
A compound proposition that is neither a tautology nor a contradiction is called a

1
2
3

10

a) Contingency b) Equivalence c) Condition
A compound proposition that is always

a) True b) Falsec) Either true or false
A compound proposition that is always
a) True b) Falsec) Either true or false

If P then Q is called
Conditional d) bi conditional

A sum of the variables and their negations in a formula is called

b) elementary product

a) elementary product

a)Conjunction b) Disjunction c¢) Conditional

statement a) Conjunction

d) Inference.
is called a tautology.
d) neither true nor false
is called a contradiction.
d) neither true nor false

b) Disjunction

C)PCNF d)PDNF

A product of the variables and their negations in a formula is called .
b) elementary sum c) CNF d)DNF
Min-terms of two statements are formed by introducing the connective

d) negation

If A and B are square matrices such that AB= 1 and BA= |, then B is
a) Unit matrix  b) Null matrix ¢) Multiplicative inverse matrix d) —-A
Which one of the following statement is not true?

a) A scalar matrix is a square matrix
c) A scalar matrix is a diagonal matrix

Matrix A=[aijJjmxn is a square matrix if
a)m<n b)m>n c)m=1 d) m=n
SECTION - B (Remembering)

Answer any FIVE Questions:

11
12
13
14
15
16
17

Define Proposition
Define Tautology

Draw a logic network of a.b + (~a + b)
Let a= Raja is good boy b= Raja is handsome. Write the Disjunction format
Write the truth table i) AND ii) Biconditional

Define Matrix

Write about Square and Diagonal Matrix
SECTION - C (Understanding)

Answer any THREE Questions:
18 Verify if the proposition (P vQ) VRVS is tautology or not

Prove that ~ (P»Q) = [~PV (~PVQ)]&~PVQ

J Show that A(A-1)(A+21) = 0.

19
20

fA= (2 -31
3 13
5 2 -4

b)A diagonal matrix is a square matrix
d) A diagonal matrix is a scalar matrix

21 Explain addition, subtraction and multiplication of matrix with example
22 Obtain PDNF and PCNF for the following Q ~ (P V 7Q)
SECTION - D (Applying)

Answer any ONE Question:
23 Construct the truth table and find the PDNF and PCNF for (~P » (~Q~R))V((Q~R)v(P~R))

24 List out the types of Matrix .Explain with Example
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SECTION - A (Remembering)

Answer ALL the Questions:

1

2

3

10

(10 X 1 = 10 Marks)

OR employs team of Co1
a) scientists from various disciplines b) military experts  c) doctors  d) teachers

OR increases of ------------- ability. Co1
a) decision making b) knowledge  c) speaking  d) vison

---------- represents real-life system Co1
a) model  b)action  c)character  d) decision

When the operation research concept was founded? CO1
a) during world war 1 b) during world war | d) By accidently  d) 1968

Operations research analysts do not Co1
a) Predict future operations  b) Build more than one model

c) Collect relevant data d) Recommend decision and accept

operations Research approach is . Co1
a) multi-disciplinary  b) scientific c) intuitive  d) collect essential data

The first step in solving Operations Research problem is Co1
a) Model building b) Obtain basic feasible solutions

c¢) Formulation of the problem d) Obtain alternate solutions

Which method is used to obtain optimum solution for TP? CO5
a) VAM b)LCM ¢) Hungarian  d) none

If m+n-1= number of occupied cells, then the solution is CO5
a) Feasible  b) unfeasible c) un balanced d) none

The dummy source or destination in a transportation problem is added to CO5

a) to make balanced one b) prevent solution from becoming degenerate
c) ensure that total cost does not exceed a limit d) all of the above
SECTION - B (Remembering)

Answer any FIVE Questions:

11
12
13
14
15
16
17

Define Operation Research

What is iconic model?

What is a model?

List out 4 characteristics of a good model

List out the phases of OR

Define Transportation Problem

Define Maximization Transportation Problem and how solve it?
SECTION - C (Understanding)

Answer any THREE Questions:

18
19
20
21

Explain any SIX types models in OR

Discuss about general methods for solving OR models

Discuss scientific method in OR

Find the starting solution of the following transportation problem using NWCR

DESTINATION
SOURCE A B C D E AVAILABLE
P 4 1 2 6 9 100
Q 6 4 3 5 7 120
R 5 2 6 4 8 120
DEMAND 40 50 70 90 90

(5 X 2 =10 Marks)
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22 Discuss the steps to solve VAM Procedure CO5

SECTION - D (Applying)

Answer any ONE Question: (1X 12= 12 Marks)
23 Determine the main phases of OR Co1
24 Apply the following methods on the Transportation Problem(i)NWCR (ii)LCM CO5

(ii)VAM
DESTINATION
A B C SUPPLY

I 2 7 4 5

SOURCE I 3 3 1 8
Il 5 4 7 7

v 1 6 2 14

DEMAND 7 9 18
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SECTION - A (Remembering)

Answer ALL the Questions:

1
2
3

9

10

Which function reading information from keyboard

a) printf () b) puts() c) scanf() d) put()

Find the Assignment operator from the following

a) == b) >= C) = d) <=

The values of void data type is

a) NULL b) 1 bytes C) 8 bytes d) 16 bytes

Valid Symbolic constant declaration from the following ----------------

(10 X 1 =10 Marks)

a) #define N=25 b) # define N 10 c) #define N 25; d) #define N 10

----------------- main() function we can using in C

a) Many b)1 ¢)2 d)none

Valid variable name declaration from the following -----------------
a) char b) price$  c¢) First_tag d) First tag

The Modulo operator returns only ---------=-------- value

a)Real b) integer c) float  d) mantissa

What is the real way to initialize value to anarray?
a)inta[6]={1,2,3,4,5,6}; Db)inta{}=[1,2,3,4,5}; c)inta;
d) int a(6)={1,2,3,4,5,6};

An Array index starts with

a) 0 b) 1 c)-1 d) NULL
int a[6]={1,2,3,4,5,6}; How many bytes occupied in a computer?
a) 2bytes b)4 bytes c) 12 bytes d) 6 bytes

SECTION - B (Remembering)

Answer any FIVE Questions:

11
12
13
14
15
16
17

How to declare a variable give syntax with example
Evaluate the expression x=a-b/3+c*2-1
What is the use of enum function?
List out any 4 features of C
Define keywords
Define Array
List out types of array in C
SECTION - C (Understanding)

Answer any THREE Questions:

18
19
20
21
22

Write a short note on scanf() function

Write a C program to check which number is big using if else statement

Discuss about primary data types in C

Explain about Arrays in C

Discuss about declare and assign values to an array in C with example
SECTION - D (Applying)

Answer any ONE Question:

23
24

Explain about operator and its types in C
Write a C program to sorting the numbers
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SECTION - A (Remembering)

Answer ALL the Questions:

1

2

10

The octal number 645 in power of 8 is equal to

a) 45019 b) 45149 C) 42149 d) 50149

Representation of hexadecimal number 6DE in the power of 16 is as:

Q) 6*16°+13* 16 + 14 * 16° b) 6 * 16% + 12 * 16 + 13 * 16"
) 6*16%+11* 16" + 14 * 16° d) 6 * 16° + 14 * 16 + 15 * 16°
Convert in to decimal: 214g =?

a) 14049 b) 141, C) 14249 d) 13019

Any set of digits or alphabets are generally referred as
a) Characters b) Symbols C) Bits d) Bytes
A is a circuit with only one output but can have multiple inputs.
a) Logic gate b) Truth table  c) Binary circuit d) Boolean circuit
According to Boolean law: A +1 ="
a)l b) A c)0 d) A’
A(A+B)=?
a) AB b) 1 c)(1+AB) d)A
. There are cells in a 4-variable K-map.
a) 12 b) 16 c) 18 d) None
In a multiplexer, the selection of a particular input line is controlled by
a) Data controller b) Selected lines c) Logic gates d)Botha &b
The word demultiplex means
a) One into many b) Many into one c) Distributor
d) One into many as well as Distributor
SECTION - B (Remembering)

Answer any FIVE Questions:

11
12
13
14
15
15
17

List the types of number systems?
Give 1's complement and 2's complement of the binary number 10110017
State Distributive Law.
Give any two examples for digital to analog converter?
List the basic properties of Boolean algebra?
List out various application of multiplexer?
Define multiplexer?
SECTION - C (Understanding)

Answer any THREE Questions:

18

19
20
21
22

Convert the given decimal numbers to Binary numbers:
a) (152)10 b) (272)10
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Simplify the following expression using Boolean laws: (X + Z2).(X.Y +Y.Z")+ X.Z+Y

Brief a note on Gray code and its characteristics?

Write short note on AND, OR and NOR gates?

Discuss about 2 x 1 Multiplexer with a block diagram?
SECTION - D (Applying)

Answer any ONE Question:

23 Explain the types of number systems and their characteristics with suitable examples?

24

Explain in detail any two types of De-multiplexer circuit with neat diagram?
&&&E&&EEE
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SECTION - A (Remembering)

Answer ALL the Questions: (10 X 1 =10 Marks)
1 Network of networks is known as Co1
A. intranet B. internet C. Local Area NetworkD. WAN
2 - is used as a medium of communication under water. CO1
A. Wave B. Light C. Sound D. Music
3 An example for dynamic routing algorithm is . Co1
A. Shortest path. B. Flooding. C. Dijkstra D. Distance vector.
4 IS0 stands for Co1
A. International Standard Organization. B. International Student Organization.
C. Integrated Services Organization. D. Integrated standard organization.
5 Terminators are used in topology. Co1
A. bus B. ring C. star D. irregular
6 Every domain can have a set of records associated with it. Co1
A.DNS B. mail C.resource  D. websites
7 GIF stands for CO1
A. Group Interchange Format B. Graphical Interchange Format.
C. Group Information Format D. Graphical Information Format.
8 GPS is mean for------------ CO2
A. Global Pointing System B. Global Positioning System
C. Great Pointing System D. Great Positioning System
9 The commonly used protocol for webpage transfer is CO2
A. HTML B.HTTP C. WML D. WTTP.
10 Devices on one network can communicate with devices on another network via CO2
A. file server B. printer server C. utility serverD. gateway

SECTION - B (Remembering)

Answer any FIVE Questions:

11
12
13
14
15
16
17

What is computer network?
Give any four advantages of computer networks?
What is meant by modem?
Expend : TCP, UDP
List out any four Network hardware’s.
Define Physical Layer?
What is Multiplexing?
SECTION - C (Understanding)

Answer any THREE Questions:

18
19
20
21
22

Brief a note on uses of computer networks?
Explain the TCP / IP reference model
Brief a note on network software
Brief a note on fiber optics?
Elaborate coaxial cable in network.
SECTION - D (Applying)

Answer any ONE Question:

23
24

Enumerate on the characteristics of OSI Reference model?
Write a summary Public Switched telephone network?
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SECTION - A (Remembering)
Answer ALL the Questions: (10 X 1 =10 Marks)
1 __ environment is used to determine how the operators of a vehicle are affected by certain Co1
motions.
a) Wireframe display  b) Virtual Reality c) operating system  d) Architectural CAD
2 ___ device is used to produce painting through a specially designed software to produce automatic  CO1
computer art. a) Inkjet printer b) Pen plotter ¢) Stylus  d) camera
3 Filmanimation requires____ no. of frames per second for an animated movement sequence. Co1
a) 24 b) 36 c) 20 d) 30
4 Picture Definition is stored ina memory called Cco1
a) pixel b) pixmap c) refresh buffer d) bitmap
5 is a process of transforming an object or a person into another in image processing Co1
technology. a) Morphing  b) Motion Capture  ¢) Animation d) Surface rendering
6 Calculators uses type of display for output Co1
a) Plasma panel b) LED c) LCD d) CRT
7 on random scan system depends on the number of lines to be displayed Co1
a) beam intensity b) refresh rate c) stroke writing d) scan line
8 The Cartesian slope -intercept equation for a straight lineis CO2
ayy=mx+b b)y=bx+m C)y=xXx+m dy=b+mm
9 Expansion of DDA algorithmis CO2
a) Digital Difference Analyzer  b) Direct Differential Analyzer
c) Digital Differential Analyzer d) Data Differential Analyzer
10 Changing the size, position or orientation of an object within a scene done using CO2
a) Output primitives b) attributes ¢) Geometric transformation  d) segment
SECTION - B (Remembering)
Answer any FIVE Questions: (5 X 2 =10 Marks)
11 List any two types of visualization techniques? Co1
12 Give any two applications of Computer Aided Designing? Co1
13 List the two methods to produce color display in CRT? Co1
14 Give an example for emissive and non-emissive video displays? Co1
15 Give any two advantages of DDA Line algorithm? co1
15 Give the uses of Area Fill attributes? COo2
17 List the types of 2D transformation methods? CO2
SECTION - C (Understanding)
Answer any THREE Questions: (3 X 6= 18 Marks)
18 Summarize the working of a Refresh CRT with a neat diagram? co1
19 Critically analyze the working of Color CRT monitors? co1
20 Brief a note on emissive and non-emissive displays? Co1
21 Discuss on the working of Line Drawing algorithms? CO2
22 Brief a note on any three input devices used in modern graphics CO2
SECTION - D (Applying)
Answer any ONE Question: (1X 12=12 Marks)
23 Explain in detail the applications of computer graphics in various industries? Co1
24 Explain in detail the working of DDA line drawing algorithm? CO2
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SECTION - A (Remembering)

Answer ALL the Questions:
1 Python pandas was developed by?
B. Travis Oliphant  C. Wes McKinney D. Brendan Eich

3

N

ol

A. Guido van Rossum

(10 X 1 = 10 Marks)

2 What is the method inside the class in python language?
A. Object B. Function C. Attribute D. Argument
Which of the following operators is the correct option for power(ab)?
A.a”b B. a**b C.a""b D.a"*b
How many keywords present in the python programming language?
A. 32 B. 61 C.33 D. 27
Which of the following statements is valid for "if statement™?
A. iff>=12: B. if (f >=122) C.if (f=>1222) D. if f >= 12222

8

9

In which language is Python written?
A. English B. PHP C.C
Which character is used in Python to make a single line comment?

C.# D.!
class in python language?

A. Object B. Function C. Attribute
Which of the following words cannot be a variable in python language?

A./ B.//
What is the method inside the
A. val B. val

C.try

D. All of the above

D. Argument

D. _try_

10 Which one of the following has the highest precedence in the expression?
A. Division B. Subtraction C. Power
SECTION - B (Remembering)

Answer any FIVE Questions:

11
12
13
14
15
16
17

How to run python program.
Define data types.

Difference between compiler and interpreter
List out any four python software.

Define if statement with sample program.
Any two advantages of function

Comment in stack

D. Parentheses

SECTION - C (Understanding)

Answer any THREE Questions:

18
19
20
21
22

What is debugging with types

Write a FOR loop with example.

Explain list in python with example

Explain about math function in python with example
Write a function call in python with example

Answer any ONE Question:
23 Construct the formal and natural language in Python
24 Explain about the function argument in python

SECTION - D (Applying
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SECTION - A (Remembering)

Answer ALL the Questions:

1
2
3

9
10

Object Oriented Programming language was developed by

a) Microsoft b) Sun Microsystems c) Oracle d) IBM
What is JAVAC ?

a) Compiler b) Assembler c) Debugger d) Editor
Data types in java under various categories are

a) Primitive b) Non-Primitive

¢) Primitive and Non-Primitive d) All of the above

? is denoted as
a) Conditional b) Assignment c) Relational d) logic
The Java compiler produces an intermediate code known as

a) JVM b)Byte code c)JDK d)JRE
is the mechanism that binds together the code and the data.
a) Polymorphism. b) Encapsulation. c) Inheritance d) Abstraction
In the Bitwise OR operator is defined as
a) & b) | c) ~ dy»

(10 X 1 = 10 Marks)

Evaluate the following Java expression, if x=3, y=5, and z=10: ++z +y -y + Z + X++

a) 24 b) 23 €)20 d) 25

represents an entity in the real world that can be distinctly identified.

a) Class b) Object c) Method d) data
An object is an instance of a .
a) Class b) Object c) Method d) data
SECTION - B (Remembering)

Answer any FIVE Questions:

11
12
13
14
15
16
17

Why is Java a platform independent language?
Why Java is not a pure object oriented language?
How is Java different from C? (Any Two)
How to take input from users in Java
Define encapsulation
What is a method in Java
What is a class in Java
SECTION - C (Understanding)

Answer any THREE Questions:

18
19
20
21
22

Write about the JVM with neat diagram
How to Install and Configuration of Java
Write a simple java program with explain
Write about class, object and method with example
Write about access specifier
SECTION - D (Applying)

Answer any ONE Question:

23
24

Briefly explain the Oops concepts in Java
Write a Java Program to create a student mark list using class and object
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Answer ALL the Questions:

1

10

A software can be defined as

Course Title: SOFTWARE ENGINEERING

SECTION - A (Remembering)

a) set of computer programs, procedures and its associated documents.

b) a set of compiler instructions

c¢) A mathematical formula

Which of the following is not the characteristic of software?

a) Software does not wear out
c) Software is not manufactured

a) Spiral Model  b) Concurrent Model

b) Software is flexible

d) None of above

d) Software is always correct
Which of these Process models are used to develop client/server applications
d) Incremental model

How many maturity level does CMMI standard have a)6
What does the study of an existing system refer to?

a) Details of DFD b) Feasibility Study c) System Analysis d) System Planning
Which of the following activities of the generic process framework delivers a feedback report?
a) Deployment b) Planning ¢) Modeling d) Construction

Abbreviate CMMI

c) Waterfall model

b)5 )4

a) Capability Model Maturity Integration b) Capability Maturity Model Integration
b) Capability Model Maturity Instructions d) Capability Maturity Model Instructions

Which of these is not defined in the Software Requirement Specification?
b) Non-functional requirements

a) Functional requirements
c) Goals of Implementation

d) Algorithms

Which of these is not a part of Requirements Engineering?
a) Requirements Elicitation  b) Requirement analysis
c¢) Requirements Design d) Requirements documentation

helps to examine all requirements in the requirement specification for its ambiguity,

inconsistencies, lack of clarity or errors.

a) analysis b) elaboration c) validation

Answer any FIVE Questions:
List the characteristics of a software product?
Define software engineering according to IEEE?
List the types of prototyping methods?

Give the pitfalls of cascading model?

List the various capability levels in CMMI?

11
12
13
14
15
16
17

Define Inception?
Define COTS?

Answer any THREE Questions:
Outline the principles of software engineering practices?
Brief a note on Prototyping Process Model?

18
19
20
21
22

Discuss on RAD process model?

Summarize on the work products produced on completing elicitation of requirements?

Classify the types of requirements?

Answer any ONE Question:
Identify the phases of waterfall model, their characteristics and pitfalls?
Interpret the steps involved in requirements engineering?

23
24

d) Inception

SECTION - B (Remembering)

SECTION - C (Understanding)

SECTION - D (Applying)
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SECTION - A (Remembering)

Answer ALL the Questions:

1

2

3

4

7

8

9

10

A _service provider gets the same benefits from a compostable system that a user does.

a) CaaS b) AaaS c) PaaS d) All of the mentioned
L. How many types of Cloud are there in Deployment Models?

a)2 b) 3 c)4 d) 5

Virtual Machine Ware (VMware) is an example of

a) Infrastructure Service b ) Platform Service c¢). Software Service d).None of these
Amazon Machine Images are virtual appliances that have been packaged to run on the grid

of nodes.
a) Ben b) Xen c) Ken d) Zen

(10 X 1 =10 Marks)

Which of the following is the highest degree of integration in cloud computing?

a) CaaS b) AaaS c) PaaS d) SaaS
What is the name of the organization helping to foster security standards for cloud
computing?
a) Cloud Security Standards Working Group b). Cloud Security Alliance
¢) Cloud Security Watchdog
L. Which of the following is the working models for cloud computing?

2. a) Deployment Model b). Configuring Model ¢). Collaborative Model d) All of the above

The term refers to a Network or Internet.
a) Cloud Computing b) Cloud c¢) Computing d) CRM
Cloud Services have a relationship with their customers.
a). One-to-one b) One-to-many c). Many-to-many d). None of the above
Which of the following is the best-known service model?
a) SaaS b) laaS c) PaaS d) All of the mentioned
SECTION - B (Remembering)

Answer any FIVE Questions:

11
12
13
14
15
16
17

What is Cloud Computing?
Give any four advantages of Cloud Computing?
Define Hybrid cloud?
Expand — Saas,Paas and laas
List out the usage of Cloud Computing
Write any four essential features of Cloud architecture
Draw a neat diagram of Cloud Computing layers
SECTION - C (Understanding)

Answer any THREE Questions:

18
19
20
21
22

Explain about the Building block of Cloud Computing
Write about evolution and history of Cloud Computing
Brief a note on Challenges and Usage of Cloud
Write about Cloud Provider
Brief a note on VM monitor

SECTION - D (Applying)

Answer any ONE Question:

23
24

List out the types of cloud computing. Explain it
Explain about cloud computing architecture.
&&&EE&EE&

d). Security in the Cloud Alliance
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Answer ALL the Questions:

1

N

10

11

12

13

14
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Date: 30.08.2022 Part: v Semester: \"/
Duration: 1 Hour Academic Year: 2022-23 Max. Marks: 50
Study Component: Skill Based

Course Title: COMPETITIVE EXAMINATION FOR IT
SECTION - A

Arrange the words given below in a meaningful sequence.
I. Income Il. Status I11. Education
a) 3,15,2,4 B) 1,3,2,5,4
Find odd man out a) oracle b) basic  c) pascal
Arrange the words given below in a meaningful sequence
I. Leaves I1. Branch I11. Flower 1V. Tree V. Fruit
a)4,3,1,25 b)4,2513 c¢)4,3,215d)4,2,135
What protocols used between E-Mail servers
a) SMTP b)FTP ¢)DTP  d)TTP
Doctor:: Patient::Politician::?
a) Voter b) Chair c) Money d) Public
Find the missing LETTER for the given box?
B|C|E|G|K|M
Y| X|V|T|P|?
A)L B)S C)N D)O
How many circles are there in the adjoining figure?

IV. Well-being
C) 12534
d) cobol

A)18 B)24 C)20 D)14

The hexadecimal number C3 convert to binary number is
A) 1111 B) 110011 C) 111100 D) 11000011
Find odd man out

A) April B) June C) September

0Qelaalo?
[l Ue Aa o

(2) (3) (4)

D) May

A) 1 B) 2 C)3 D) 4
HEART= @8531; FEAST= #8541; FARTHEST=?
A) #541@831 B) #831@541 C) @541#831
5% of 5% of Rs. 100 is
A) Rs. 25 B) Rs. 0.50
Where is RAM located?

A) Expansion Board
77% of 64=?

A) 47.28

D) #531@841

C) Rs. 10 D) Rs. 0.25

B) External Drive C) Motherboards D) None

B) 49.28 C) 48.29 D) 49.27

V. Job
D)3,51,2,4

(50 X 1 =50 Marks)
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15

16

17

18

19

20

21

22

23

24

25

26

27
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30

31

32

33

34
35

If a computer has more than one processor then it is known as ?
A)Uniprocessor B) Multiprogramming C)Multithreaded D) Multiprocessor
If today is friday,what day of the will it be 100 days from today ?
A) Monday B)Sunday C) Tuesday D) Wednesday
(489+375)° — (489-375)* =?
(489*375)
A) 4 B)5 C) 40 D) 52
How old will I be in 2032 if | was born in 19972
A)35 B) 25 C)17 D)11
(963+476)° + (963-476)° =?
(963*476)
4 B)5 C)6 D) 2
In a certain code Languages 461 means ‘where are you’, 169 means ‘you are good’ and 8652
means
‘flowers are not bad’. How will ‘where not are good flowers’ be written in that code
Language?
A) 68954 B) 46598 C) 45698 D) Data inadequate
7:12 is equivalent to
A) 28:40 B)42:71 C) 42:72 D) 72:42
If C=3 and POLISH=79, then POINTER=?
A) 98 B)97 C)96 D)95
A ratio equivalent to 3:7 is
A)9:21 B)6:10 C) 3:9 D) 18:49
If ‘blue’ means ‘green’, ‘green’ means *white’, *white’ means ‘yellow’, ‘yellow’ means
‘black’, ‘black’ means ‘red’ and ‘red’ means ‘brown’, that what is color of ‘Blood’?
A) Yellow B) Green C) Brown D) Black
In a class there are 20 boys & 15 girls. The ratio of boys to girls are
A)4:3 B) 4:5 C) 3:9 D) 18:49
The L.C.M of number is 2,4,32,8 find the value
A) 32 B)65 C)60 D)63
Pointing towards a day, Veena said, “He is the son of the only son of my Grandfather.” How
is that boy related to Veena?
A)Uncle B) Brother ~ C) Cousin D) None
The L.C.M of two number is 12,30=?
A) 58 B)60 C)62 D)64
The L.C.M of two number is 2,13=?
A) 15 B)25 C)26 D)28
Ram is the brother of Arun. Sana is the sister of Tina. Arun is the son of Sana. How is Ram
related to Sana?
A) Brother B) Uncle C) Son D) Father
CanyouSolve 7+7+7+7XT7T+7-7+7T+7x7=?

A) 112 B)56 C)0 D) 98
The L.C.M of two number is 30,42="
A) 630 B) 635 C) 220 D) 210

A man walks 5km east, turns left & walks another 5 km. Again he takes a left turn & walks
5km. Which direction on is he facing now?

A)WEST B)EAST C)SOUTH D)NORTH

241225=2 A)35 B) 30 C) 45 D) 25

Home D is 10 km, towards the North of House A. Home C is 15km towards the west of
Home D. Home B is 15km towards the west of Home A. How far and in which direction is
Home B from Home C?

A)East B) West C) North D) South
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2V9025=2

A)85 B)75 C) 95 D) 90
The Hexadecimal number system consists of the
A) 0-15 B) 0-9, A-E C) 0-7, A-F D) 0-9, A-F
37125=?

A) 10 B)5 C)25 D) 15
Data in a computer can be represented as
A) Hexa-Decimal B) Decimal C) Binary D) All of these
Arrange the words given below in a meaningful sequence
I.Police Il.Punishment 111.Crime IV.Judge V.Judgement
a)3,1,245 B)12345 C)54,3.21 D) 3,1,4,5,2
Find the odd letter from the given alternatives.
A) Driving  B) Diving C) Swimming D) None of the above

If T=40; DOG=52; BALL=?

A)29 B)32 C)54 D)35

We can draw a pie-graph in a

A) Excel B) Power point C) Access D) Word
A teacher can develop a question bank with the help of

A)Excel B) Power point C) Access D) Word
M-S word is an example of
A) System S/W B) Application S/IW C) OS D) Translating program

A byte is equal to
A)32 Bits B) 16 Bits C) 8 Bits D) 4 Bits

The VIRUS is a
A) S/W Program B) H/W C) Device D) None of the above
Who is the father of Computers?

a) James Gosling b) Charles Babbage  c) Dennis Ritchie  d) Bjarne Stroustrup
What is the full form of CPU?

a) Computer Processing Unit  b) Computer Principle Unit c) Central Processing Unit
d) Control Processing Unit

Which of the following computer language is written in binary codes only?

a) pascal b) machine language ¢)C d)C#

&&&E&EEE
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